# ZZ Transform for Solving Systems of Ordinary Differential Equations 

${ }^{1,3}$ Abdelbagy A.Alshikh and ${ }^{2,3}$ Mohand M. Abdelrahim Mahgoub<br>${ }^{1}$ Mathematics Department Faculty of Education-Alzaeim Alazhari University- Khartoum -Sudan.<br>${ }^{2}$ Department of Mathematics, Faculty of Science \& technology, Omdurman Islamic University, Khartoum, Sudan.<br>${ }^{3}$ Mathematics Department Faculty of Sciences and Arts-Almikwah -Albaha University-Albaha - Saudi Arabia.

## ARTICLE INFO

## Article history:

Received: 10 January 2017;
Received in revised form: 26 February 2017;
Accepted: 6 March 2017;

## Keywords

$\overline{Z Z}$ transform - system of differential equations.


#### Abstract

In this paper we introduce some properties and definition of the new integral transform, called ZZ transform. Farther, we use ZZ transform to solve systems of ordinary differential equations. The results indicate these methods to be very effective and simple.


© 2017 Elixir All rights reserved.

## 1. Introduction

In recent years, systems of high order ordinary differential equations have been solved intensively by using approximate iterative methods such as variational iteration method [1], differential transformation method [2], Adomian decomposition method [3], the tanh method [4], Homotopy analysis method [5], Homotopy Perturbation Method [6]. In addition to these methods, the spectral methods are also used to solving systems of linear differential equations. Chebyshev collocation method [7] and Taylor collocation method [8] are also applied to solve these systems of differential equations. In order to solve differential equations, several integral transforms were extensively used and applied in theory and application such as the Laplace, Fourier, Mellin, Hankel , Sumudu transforms, Elzaki transform [9-10], and Aboodh Transform[11-13] . Recently, New integral transform, named as ZZ Transformation [14-17] introduce by Zain Ul Abadin Zafar [ 2016] , ZZ transform was successfully applied to integral equations, ordinary differential equations . In this study, our purpose is to show the applicability of this interesting new transform and its efficiency in solving the linear system of ordinary differential equations. The plane of the paper is as follows: In section 2, we introduce the basic idea of ZZ Transform, In Section3, ZZ transform is demonstrated by applying it on many problems and conclusion is given at the last section, respectively.

## 2. The ZZ Transform

## Definition

Let $\mathrm{f}(t)$ be a function defined for all $t \geq 0$. The ZZ transform of $\boldsymbol{f}(\boldsymbol{t})$ is the function $\boldsymbol{Z}(\boldsymbol{u}, \boldsymbol{s})$
defined by
$\boldsymbol{Z}(\boldsymbol{u}, \boldsymbol{s})=\boldsymbol{H}\{\boldsymbol{f}(\boldsymbol{t})\}=\boldsymbol{s} \int_{0}^{\infty} \boldsymbol{f}(\boldsymbol{u t}) \boldsymbol{e}^{-\boldsymbol{s t}} \boldsymbol{d t}$
provided the integral on the right side exists. The unique function $\boldsymbol{f}(\boldsymbol{t})$ in (2) is called the inverse transform of $\boldsymbol{Z}(\boldsymbol{u}, \boldsymbol{s})$ is indicated by

$$
f(t)=H^{-1}\{Z(u, s)\}
$$

Equation (2) can be written as
$H\{f(t)\}=\frac{s}{u} \int_{0}^{\infty} f(t) e^{-\frac{s}{u} t} d t$
ZZ transform of some functions :

$$
\begin{aligned}
& H\{1\}=1, H\left\{t^{n}\right\}=n!\frac{u^{n}}{s^{n}}, \\
& E(\sin (a t))= \frac{a u s}{s^{2}+a^{2} u^{2}} \quad, \quad E(\cos (a t)) \\
&=\frac{s^{2}}{s-u a} \\
& s^{2}+a^{2} u^{2}
\end{aligned}
$$

ZZ transform of derivatives :
1)) let $\boldsymbol{H}\{\boldsymbol{f}(\boldsymbol{t})\}=\boldsymbol{Z}(\boldsymbol{u}, \boldsymbol{s})$ then
$H\left\{t f^{(n)}(t)\right\}=\frac{s^{n}}{u^{n}} Z(u, s)-\sum_{k=0}^{n-1} \frac{s^{n-k}}{u^{n-k}} f^{(k)}(0)$
2)) (i) $H\{\boldsymbol{t f}(\boldsymbol{t})\}=\frac{\boldsymbol{u}^{2}}{\boldsymbol{s}} \frac{d}{d \boldsymbol{u}}(\boldsymbol{Z}(\boldsymbol{u}, \boldsymbol{s}))+\frac{\boldsymbol{u}}{\boldsymbol{s}} \boldsymbol{Z}(\boldsymbol{u}, \boldsymbol{s})$
(ii)) $H\left\{t f^{\prime}(t)\right\}=\frac{u^{2}}{s} \frac{d}{d u}\left(\frac{s}{u} Z(u, s)\right)+Z(u, s)$
(iii) $\quad H\left\{t f^{\prime \prime}(t)\right\}=s \frac{d}{d u}(Z(u, s))-\frac{s}{u} Z(u, s)+$ $\frac{s}{u} f(0)$

## 3. System of Ordinary Differential Equations

In this section, the effectiveness and the usefulness of ZZ transform is demonstrated by finding exact solutions for System of Ordinary Differential Equations .
Example (1):
We consider a first -order linear system with constant coefficients

$$
\begin{align*}
& \frac{d y_{1}}{d t}=a_{11} y_{1}+a_{12} y_{2}+g_{1}(t) \\
& \frac{d y_{2}}{d t}=a_{21} y_{1}+a_{22} y_{2}+g_{2}(t) \tag{2}
\end{align*}
$$

with initial condition $y_{1}(0)=y_{10}$ and $y_{2}(0)=y_{20}$ where $\boldsymbol{a}_{\mathbf{1 1}}, \boldsymbol{a}_{\mathbf{1 2}}, \boldsymbol{a}_{\mathbf{2 1}}, \boldsymbol{a}_{\mathbf{2 2}}$ are constants.

## Solution

Let $\overline{\boldsymbol{y}_{1}}=\boldsymbol{A}\left(\boldsymbol{y}_{1}\right), \quad \overline{\overline{\boldsymbol{y}_{2}}}=\boldsymbol{A}\left(\boldsymbol{y}_{2}\right), \boldsymbol{G}_{1}=\boldsymbol{A}\left(\boldsymbol{g}_{1}\right)$
and

$$
G_{2}=A\left(g_{2}\right)
$$

> Introducing the matrices

$$
\begin{gather*}
y=\binom{y_{1}}{y_{2}} y_{0}=\binom{y_{10}}{y_{20}}, g(t)=\binom{g_{1}(t)}{g_{2(t)}} \\
A=\left(\begin{array}{ll}
a_{11} & a_{12} \\
a_{21} & a_{22}
\end{array}\right)^{\prime} \frac{d y}{d t}=\binom{\frac{d y_{1}}{d t}}{\frac{d y_{2}}{d t}} \tag{3}
\end{gather*}
$$

We can write the above system in matrix differential system as $\frac{d y}{d t}=A y+g(t), y_{0}=y_{0}$
We take ZZ transform of the system with the initial conditions to get
$a_{21} u\left(s-a_{11} u\right) \overline{y_{1}}-a_{12} a_{21} u^{2} \overline{y_{2}}=$
$a_{21} u^{2} \overline{g_{1}}(t)+a_{21} s$ u $y_{10} a_{21} u\left(s-a_{11} u\right) \overline{y_{1}}-$
$\left(s-a_{11} u\right)\left(s-a_{22} u\right) \overline{y_{2}}=u\left(s-a_{11} u\right) \overline{g_{2}}(t)+$
$s\left(s-a_{11} u\right) y_{20}$
(5)

The solution of this algebraic system is,
$\overline{y_{1}}(v)=\frac{\left[\begin{array}{cc}u \overline{g_{1}}(t)+s y_{10} & -2 a_{12} u \\ u \overline{g_{2}}(t)+s y_{20} & 2\left(s-a_{22} u\right)\end{array}\right]}{\left[\begin{array}{cc}s-a_{11} u & u a_{12} \\ u a_{21} & s-a_{22} u\end{array}\right]}$
$\overline{y_{2}}(v)=\frac{\left[\begin{array}{cc}\overline{g_{1}}(t)+y_{10} & -(s+u)\left(s-a_{11} u\right) \\ \overline{g_{2}}(t) y_{20} & a_{21}\left(s u+u^{2}\right)\end{array}\right]}{\left[\begin{array}{cc}s-a_{11} u & u a_{12} \\ u a_{21} & s-a_{22} u\end{array}\right]}$
Example (2): solve the system of ordinary differential equation

$$
\begin{equation*}
\frac{d y}{d t}=-z \quad, \quad \frac{d z}{d t}=y \tag{7}
\end{equation*}
$$

With initial condition

$$
\begin{equation*}
z(0)=0, y(0)=1 \tag{8}
\end{equation*}
$$

Solution:
Applying ZZ transform for the equation (7) we have

$$
Z\left\{\frac{d y}{d t}\right\}=Z\{-z\} \quad, \quad Z\left\{\frac{d z}{d t}\right\}=Z\{y\}
$$

we get

$$
\begin{aligned}
& \frac{s}{u} y(u, s)-\frac{s}{u} y(0)=-Z(u, s) \\
& \frac{s}{u} Z(u, s)-\frac{s}{u} z(0)=y(u, s)
\end{aligned}
$$

with the initial condition (8) we get

$$
\begin{align*}
& \frac{s}{u} y(u, s)-\frac{s}{u}=-Z(u, s), \frac{s}{u} Z(u, s)=y(u, s) \\
& \text { so }  \tag{9}\\
& \left\{\begin{array}{l}
\frac{s}{u} y(u, s)+Z(u, s)=\frac{s}{u} \\
\frac{s}{u} Z(u, s)-y(u, s)=0
\end{array}\right.
\end{align*}
$$

there fore $Z(u, s)=\frac{s u}{s^{2}+u^{2}}, Z(u, s)=\frac{s^{2}}{s^{2}+u^{2}}$
then $z(t)=\sin t, y(t)=\cos t$
Example (3)
Consider the system of ordinary differential equation
$\left\{\begin{array}{l}\frac{d x}{d t}=2 x-3 y \\ \frac{d y}{d t}=y-2 x\end{array}\right.$

## $\boldsymbol{t}>\mathbf{0}$

With the initial condition $\boldsymbol{x}(\mathbf{0})=\mathbf{8}, \boldsymbol{y}(\mathbf{0})=\mathbf{3}$
Take ZZ transform of the system with the initial conditions (12) to get

$$
\begin{align*}
& Z\left(\frac{d x}{d t}\right)=Z(2 x)-Z(3 y)  \tag{13}\\
& Z\left(\frac{d y}{d t}\right)=Z(y)-Z(2 x) \\
& \text { we get } \\
& \left\{\begin{array}{c}
\frac{s}{u} X(u, s)-\frac{s}{u} X(0)=2 X(u, s)-3 Y(u, s) \\
\frac{s}{u} Y(u, s)-\frac{s}{u} y(0)=Y(u, s)-2 X(u, s)
\end{array}\right. \tag{14}
\end{align*}
$$

with the initial condition we get
$\frac{s}{u} X(u, s)-8 \frac{s}{u}=2 X(u, s)-3 Y(u, s)$
$Y(u, s)-2 X(u, s)$
Solve these equations for $x$ and $y$ we find:
$Y(u, s)=\frac{3 S^{2}-22 S u}{(s-4 u)(S+u)}=\frac{-2 s}{(s-4 u)}+\frac{s 5}{(S+u)}$
By taking inverse ZZ transform we have:
$y(t)=5 e^{-t}-2 e^{4 t}$
Now solve equation (15) and (16) simultaneously from $\boldsymbol{x}(\boldsymbol{v})$ we have
$X(u, s)=\frac{8 S^{2}-17 S u}{(s-4 u)(S+u)}=\frac{3 s}{(s-4 u)}+\frac{5 s}{(S+u)}$
By taking inverse ZZ transform we have:
$x(t)=3 e^{4 t}+5 e^{-t}$
Example (4):
Solve the second order couplet differential system

$$
\begin{align*}
& \left\{\begin{array}{l}
\frac{d^{2} x}{d t^{2}}-3 x-4 y=0 \\
\frac{d^{2} y}{d t^{2}}+x+y=0
\end{array}\right.  \tag{21}\\
& \text { With the initial condition } \\
& x(0)=y(0)=0, \quad \frac{d x}{d t}(0)=2, \quad \frac{d y}{d t}(0)=0
\end{align*}
$$

(22)

Applying ZZ transform for the equation (21) we have

$$
\begin{gather*}
Z\left(\frac{d^{2} x}{d t^{2}}\right)-3 Z(x)-4 Z(y)=Z(0)  \tag{23}\\
Z\left(\frac{d^{2} y}{d t^{2}}\right)+Z(x)+Z(y)=Z(0)
\end{gather*}
$$

we get

$$
\left\{\begin{array}{l}
\frac{s^{2}}{u^{2}} \boldsymbol{X}(\boldsymbol{u}, \boldsymbol{t})-\frac{s^{2}}{u^{2}} \boldsymbol{X}(\mathbf{0})-\frac{s}{u} \boldsymbol{X}^{\prime}(\mathbf{0})-\mathbf{X} \boldsymbol{X}(\boldsymbol{u}, \boldsymbol{t})-\boldsymbol{4} \boldsymbol{Y}(\boldsymbol{u}, \boldsymbol{t})=\mathbf{0} \\
\frac{s^{2}}{u^{2}} \boldsymbol{Y}(\boldsymbol{u}, \boldsymbol{t})-\frac{s^{2}}{u^{2}} \boldsymbol{Y}(\mathbf{0})-\frac{s}{u} \boldsymbol{Y}^{\prime}(\mathbf{0})+\boldsymbol{X}(\boldsymbol{u}, \boldsymbol{t})+\boldsymbol{Y}(\boldsymbol{u}, \boldsymbol{t})=\mathbf{0}
\end{array}\right.
$$

with the initial condition (22) we get

$$
\begin{equation*}
\frac{s^{2}}{u^{2}} X(u, t)-3 X(u, t)-4 Y(u, t)=2 \frac{s}{u} \tag{24}
\end{equation*}
$$

$X(u, t)+Y(u, t)=0$
Solve these equations for $x$ and $y$ we find:
$\boldsymbol{X}(\boldsymbol{u}, \boldsymbol{s})=\frac{2 \frac{s}{u}}{\left(\frac{s^{2}}{u^{2}}-1\right)^{2}}=\frac{-2}{(s-4 u)}+\frac{5}{(S+u)}$,
By taking inverse ZZ transform we have

$$
\begin{align*}
& x(t)=t\left(e^{t}+e^{-t}\right), \text { so } y=\frac{1}{4}\left(\frac{d^{2} x}{d t^{2}}-3 x\right) \\
& y(t)=\frac{1}{2}\left(e^{t}-e^{-t}-t e^{t}-t e^{-t}\right) \tag{26}
\end{align*}
$$

Example (5)
Solve the second order couplet differential system
$\left\{\begin{array}{c}y^{\prime}+z^{\prime}+y+z=1 \\ y^{\prime}+z=e^{t}\end{array}\right.$
With the initial condition
$y(0)=-1, \quad z(0)=2($
Solution
Applying ZZ transform for the equation (27) we have
$\left\{\begin{array}{c}Z\left(y^{\prime}\right)+Z\left(z^{\prime}\right)+Z(y)+Z(z)=Z(\mathbf{1}) \\ Z\left(y^{\prime}\right)+Z(z)=Z\left(e^{t}\right)\end{array}\right.$
we get
$\left\{\begin{array}{c}\frac{s}{u} Y(u, s)-\frac{s}{u} y(0)+\frac{s}{u} Z(u, s)-\frac{s}{u} Z(0)+Y(u, s)+Z(u, s) \\ \frac{s}{u} Y(u, s)-\frac{s}{u} y(0)+Z(u, s)=\frac{s}{s-U}\end{array}\right.$
with the initial condition (28) we get
$\left\{\begin{array}{c}{\left[\frac{s}{u}+1\right] Y(u, s)+\left[\frac{s}{u}+1\right] Z(u, s)=1+\frac{s}{u}} \\ \frac{s}{u} Y(u, s)+Z(u, s)=\frac{s}{s-U}-\frac{s}{u}\end{array}\right.$
Solve these equations for $x$ and $y$ we find:
$\boldsymbol{Y}(\boldsymbol{u}, \boldsymbol{s})=\frac{s u}{(s-u)^{2}}-\frac{s}{s-u}-\frac{u}{s-u}=\frac{s u}{(s-u)^{2}}-\frac{s+u}{s-u}$
By taking inverse ZZ transform we have
$y(t)=1-2 e^{t}+t e^{t}$
also
$Z(u, s)=\frac{2 \frac{s}{u}}{\frac{s}{u}-1}-\frac{\frac{s}{u}}{\left(\frac{s}{u}-1\right)^{2}}$
$z(t)=2 e^{t}-t e^{t}$
Examples 6:
Solve the system of second order differential equations $\left\{\begin{array}{c}z^{\prime \prime}+y^{\prime}=\cos x \\ y^{\prime \prime}-z=\sin x\end{array}\right.$
With the initial condition
$z(0)=-1, z^{\prime}(0)=-1, \quad y(0)=1, y^{\prime}(0)=0$

## Solution

Applying ZZ transform for the equation (34) we have
$\left\{\boldsymbol{Z}\left(\mathbf{z}^{\prime \prime}\right)+\boldsymbol{Z}\left(\boldsymbol{y}^{\prime}\right)=\boldsymbol{Z}(\cos \boldsymbol{x})\right.$
$\left\{Z\left(y^{\prime \prime}\right)-Z(z)=Z(\sin x)\right.$
(36)
we get
$\left\{\begin{array}{c}\frac{s^{2}}{u^{2}} Z(u, S)-\frac{s^{2}}{u^{2}} Z(0)-\frac{s}{u} Z^{\prime}(0)+\frac{s}{u} Y(u, S)-\frac{s}{u} Y(0) \\ s^{2} Y(u, S)-s^{2} Y(0) s Y^{\prime}(0)\end{array}\right.$ $\left\{\begin{array}{c}\boldsymbol{s}^{2} \\ u^{2} \\ Y \\ (u, S)-\frac{s^{2}}{u^{2}} \boldsymbol{Y}(0)-\frac{s}{u} Y^{\prime}(0)-Z(u, S)=\frac{s u}{s^{2}+}, ~\end{array}\right.$
with the initial condition (35) we get
$\left\{\begin{aligned} & \frac{s^{2}}{u^{2}} Z(u, S)+\frac{s}{u} Y(u, S)=\frac{s^{2}}{s^{2}+u^{2}}-\frac{s^{2}}{u^{2}} \\ & \frac{s^{2}}{u^{2}} Y(u, S)-Z(u, S)=\frac{S u}{s^{2}+u^{2}}+\frac{s^{2}}{u^{2}}\end{aligned}\right.$
Solve these equations for $x$ and $y$ we find:
$\boldsymbol{Y}(\boldsymbol{u}, \boldsymbol{s})=\frac{\boldsymbol{s}^{2}}{\boldsymbol{s}^{2}+\boldsymbol{u}^{2}}$
By taking inverse ZZ transform we have
$\boldsymbol{y}(\boldsymbol{x})=\cos \boldsymbol{x}$
$Z(u, s)=-\left(\frac{s^{2}}{s^{2}+u^{2}}+\frac{s u}{s^{2}+u^{2}}\right)$,

Equations", Mathematical Theory and Modeling , Vol.6, No.8, 2016.
[7] A. Aky"uz and M. Sezer, Chebyshev polynomial solutions of systems of high-order linear differential equations with variable coefficients, Applied Mathematics and Computation,144, 237-247, 2003.
[8] E. G~A $\uparrow$ kmen and M. Sezer, Taylor collocation method for systems of high-order linear differential-difference equations with variable coefficients, Ain Shams Engineering Journal, 4, 117-125, 2013.
[9] Tarig M. Elzaki, (2011), The New Integral Transform "Elzaki Transform" Global Journal of Pure and Applied Mathematics, ISSN 0973-1768, Number 1, pp. 57-64.
[10] Mohand M. Abdelrahim Mahgob " Solution of Partial Integro-Differential Equations by Double Elzaki Transform Method ", Mathematical Theory and Modeling Vol.5, No.5, 2015.
[11] K. S. Aboodh , The New Integral Transform "Aboodh Transform" Global Journal of pure and Applied Mathematics, 9(1), 35-43(2013).
[12] Mohand M. Abdelrahim Mahgob " Homotopy Perturbation Method And Aboodh Transform For Solving Sine -Gorden And Klein - Gorden Equations" International Journal of Engineering Sciences \& Research Technology ,5(10): October, 2016.
[13] Abdelbagy A. Alshikh and Mohand M. Abdelrahim Mahgoub "Solving System of Ordinary Differential Equations By Aboodh Transform", World Applied Sciences Journal 34 (9): 1144-1148, 2016.
[14] Zain Ul Abadin Zafar, ZZ Transform method, IJAEGT, 4(1), 1605-1611, Jan (2016)..
[15] Abdelbagy A. Alshikh and Mohand M. Abdelrahim Mahgoub "ON THE RELATIONSHIP BETWEEN ELZAKI TRANSFORM AND NEW INTEGRAL TRANSFORM "ZZ TRANSFORM" International Journal of Development Research Vol. 06, Issue, 08, pp.9264-9270, August, 2016
[16] Mohand M. Abdelrahim Mahgob and Abdelbagy A. Alshikh "On The Relationship Between Aboodh Transform and New Integral Transform " ZZ Transform", Mathematical Theory and Modeling, Vol.6, No.9, 2016
[17] Zain Ul Abadin Zafar, et al., Solution of Burger's Equation with the help of Laplace
Decomposition method. Pak. J. Engg. \& Appl. Sci. 12: 39-42, 2013.

